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Cellular Respiration = estabolie

CeH1,06 + 6 O, 6 CO, + 6 H,O + Energy
¢ ¢ d
Ghose  ompren il
aerobic respiration — a metabolic process that requires oxygen

anaerobic respiration —— a metabolic process that does not require
paiionadol =
oxygen

—
Cellular respiration is a 3-step process

1. Glycolysis

2.Kreb'scycle or € acd eple

3. Electron Transport

Ls
4 32 ATP produced TOTAL Conywus
—

Glycolysis
- Anaerobic process ==y Bees aof requre OXyjea

- takes place in cﬂoglasm
- glucose is broken down into 2 ATP and 2 NADH and 2 PYRUVATE

———

Kreb's Cycle — Aerebie prowess
= rewds O

- Pyruvate is transformed into CO, inside the mitochondria
[
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Electron Transport = Aerobe
= aeads O

- Takes place on the mitochondria membrane

- NADH and FADH, donate electrons into the electron transport chain
“rom e
- H' ions diffuse through ATP synthase and ATP is produced

36 ATP Total
Ls 2 arr> Clypedres
2 ATP = Keeb) ople
32 ATP = Elec. Trespork

Anaerobic Respiration
occur when oxygen levels are low L ot vie
’ Krebs of

- cells will use glycolysis until NAD" is used up EW Mhe
—————

Fermentation

- replenishes the NAD" in cell
- 2 types
1. Lactic acid fermentation

- pyruvate from glycolysis converted to lactic acid
- muscle fatigue during exercise 2 AP

soce. pmuscles

2. Alcohol fermentation

- occurs in yeast
- pyruvate from glycolysis converted to alcohol

Photosynthesis vs. Cell Respiration

Photosynthesis Cell Respiration
- need light - do not need light
- chloroplasts / chlorophyll - mitochondria
- Products = O, and glucose - Reactants = O, and glucose
[- Reactants = CO, and H,O - Products = CO, and H,O
- Plants - Animals
- 36 total ATP

***Photosynthesis and Cell respiration form a cycle where the products
from one process are the reactants for the other process and vice versa




	Page 1

